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Let’s read the following sentence and try to indicate the relation between them:
)8 C
Meriem is obese. unk food

¢ How can we link between the following pairs? .
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¢ We can link using whether the connectors of cause or result.

—

e To express cause we can use the following conjunctions:

Because
RESUETIE since
Q Loy

Ex: Meriem is obese because he eats jun
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Also, we can express cause through using the following conjunction:

——

Because of Noun/ Noun phrase —> {\ U
N
Due to I %\r.«r \\) - A \Q.
€ o NGy
Owing to + 6 e

po&h" P\ura\g\ﬁ

For example: Because of the junk food, Meriem is v’

N.B: because, since, as, because of, dueXo, owing to work

interchangeably and they can be placéd at the beginning or at the

middle as long as they are linked with the cause.
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Now to express result we can use the following conjunction:

So

As a result %7

Consequently

- + das consequence

Thus

Therefore

For instance we can say:

Meriem eats junk food, ? ore she is obese.

N.B: So, as a result, as consequence, consequently, thus; hence and

therefore work interchangeably, and they are always placed at the

middle of the sentence. ~
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-
a- There was too much noise in the class. | couldn’t understand the lesso

(Ehus)since) S
B-D‘JQK@“ L)Q \Dfa(ﬂm‘*\u@\(\i\m Mooy
U’mtvdcm 122425, Maﬁwu\x\,s\ Lot 7

c
d- We couldn’t watch the movie last night. The Electpicity off. (Because)
(Therefore)

@1}599 320999 [/ 044776411



C b}

G-He can’t drive the car. He always goes to work by bus. (As a resulty|(As)
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Children become obese because they consume alot 0
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